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]mc BHF Hmsdqcdo]qsldms]kBdmsdqzK-F]ku]mh)– @kl]L]sdqRstchnqtl)Tmhudqrhsx neAnknfm])Anknfm])Hs]kx:5Cdo]qsldmsneDwodqhldms]k)Ch]fmnrshb)]mc
Rodbh]ksxLdchbhmd)@kl]L]sdqRstchnqtl)Tmhudqrhsx neAnknfm])Anknfm])Hs]kx:6Cdo]qsldmsne@ookhdcL]sgdl]shbr)Hmrshstsd neHmenql]shnm Sdbgmnknfx)
L]sgdl]shbr)]mc Ldbg]mhbr)Kna]bgdurjx Rs]sd Tmhudqrhsx neMhygmx Mnufnqnc“M]shnm]kQdrd]qbg Tmhudqrhsx)Mhygmx Mnufnqnc)Qtrrh]:7BGT Bkdqlnms,
Edqq]mc)BQMG @tudqfmd)Bkdqlnms,Edqq]mc)Eq]mbd:8Tmhudqrhsł Bkdqlnms@tudqfmd)HMQ@)TMG)Tmhsł cd Mtsqhshnm Gtl]hmd)BQMG @tudqfmd)E,52///
Bkdqlnms,Edqq]mc)Eq]mbd:0/Cdo]qsldmsneGtl]m Mtsqhshnm)V]qr]v Tmhudqrhsx neKhed Rbhdmbdr“RFFV)V]qr]v)Onk]mc:]mc 00Cdo]qsldmsneMtsqhshnm
]mc Oqdudmshud Ldchbhmd)Mnqvhbg Ldchb]kRbgnnk)Tmhudqrhsx neD]rs@mfkh])Mnqvhbg)Tmhsdc Jhmfcnl

:ARSP:BS
ATbjfpntmc4 L]hmsdm]mbd ne ghfg ogxrhb]k odqenql]mbd ctqhmf
]fhmf lhfgsad rtoonqsdc ax ]m ]cdpt]sd chds]qx hms]jd ne mh]bhm)
uhs]lhmr A,5 ]mc A,01) ]mc enk]sd adb]trd sgdrd A uhs]lhmr
]qd hmunkudc hm ltkshokd oqnbdrrdr qdk]sdc sn ltrbkd etmbshnmhmf-
Gnvdudq)mnsltbg hr jmnvm ]antssgd ]rrnbh]shnm adsvddm chds]qx
hms]jd nesgdrd A uhs]lhmr ]mc ogxrhb]kodqenql]mbd-
Maidbshudr4 Sgd naidbshudr ne sghr rstcx vdqd sn hmudrshf]sd
sgd ]rrnbh]shnm adsvddm chds]qx hms]jd ne mh]bhm) uhs]lhmr A,5
]mc A,01) ]mc enk]sd ]mc ogxrhb]k odqenql]mbd hm nkcdq ]ctksr
]mc sn dwoknqd ldch]shnm ax mh]bhm rs]str ]mc gnlnbxrsdhmd
bnmbdmsq]shnmr-
Ldsgncr4 Vd trdc a]rdkhmd c]s] eqnl sgd Mdv Chds]qx Rsq]sd,
fhdr @ccqdrrhmf sgd Rodbhéb Mddcr ne sgd Dkcdqkx Onotk]shnm
enq Gd]ksgx @fhmf hm Dtqnod ’MT,@FD( sqh]k) vghbg hmbktcdc
m + 0138 gd]ksgx nkcdq ]ctksr ’]fdc 54“68 x( vhsg bnlokdsd
c]s] nm chds]qx hms]jd ld]rtqdc vhsg 6,c ennc qdbnqcr ]mc
ptdrshnmm]hqdr nm uhs]lhm rtookdldmstrd ]mc ogxrhb]kodqenql]mbd
ld]rtqdc vhsg sgd rgnqsogxrhb]kodqenql]mbd a]ssdqx ]mc g]mcfqho
cxm]lnldsqx-@rrnbh]shnmr vdqd ]rrdrrdc ax ]citrsdc khmd]qlhwdc
lncdkr-
Pdrtksr4 Hms]jd ne uhs]lhm A,5 v]r qdk]sdc sn knvdq bg]hq qhrd sdrs
shld Z 9“/-/22 ∗ /-/05 r ’knf(:N + /-/32[-Uhs]lhm A,5 hms]jd
v]r ]krn rhfmhéb]mskx ]rrnbh]sdc vhsg g]mcfqho rsqdmfsg) ats enq
sghr ]rrnbh]shnm)] rhfmhéb]mshmsdq]bshnm deedbsadsvddm uhs]lhm A,
5 hms]jd ]mc ogxrhb]k]bshuhsx kdudkv]r entmc-Hm o]qshbho]msr vhsg
sgd knvdrs kdudk ne ogxrhb]k ]bshuhsx)ghfgdq hms]jd ne uhs]lhm A,5
sdmcdc sn ad ]rrnbh]sdc vhsg fqd]sdqg]mcfqho rsqdmfsg ’ 90-4 ∗ /-7
jf:N + /-/40()vgdqd]r hm o]qshbho]msr hm sgd

ghfgdrs pt]qshkd ne ogxrhb]k ]bshuhsx) ghfgdq hms]jd v]r ]rrnbh]sdc
vhsg knvdq g]mcfqho rsqdmfsg ’ 9 “0-3 ∗ /-6 jf:N + /-/30(-Mn
duhcdmbd v]r entmc enq ]m ]rrnbh]shnm adsvddm hms]jd ne mh]bhm)
uhs]lhm A,01)nq enk]sd ]mc ogxrhb]kodqenql]mbd nq enqldch]shnm
ax mh]bhm rs]str nqgnlnbxrsdhmd bnmbdmsq]shnmr-
Bnmbktrhnmr4Uhs]lhm A,5 hms]jd v]r ]rrnbh]sdc vhsg adssdq bg]hq
qhrd sdrsshld hm ] onotk]shnm neDtqnod]m gd]ksgx nkcdq ]ctksr ]mc
]krn vhsg fqd]sdqg]mcfqho rsqdmfsg hm o]qshbho]msr vhsg knv ogxrhb]k
]bshuhsx nmkx-Gnlnbxrsdhmd bnmbdmsq]shnmr chc mnsldch]sd sgdrd
]rrnbh]shnmr-Sgd MT,@FD sqh]kv]r qdfhrsdqdc ]sbkhmhb]ksqh]kr-fnu
]r MBS/0643/01- 9l I Bkhm Mtsp 1/10://90“8-

Idwvnpcr4 ltrbkd)ogxrhb]ketmbshnm)gnlnbxrsdhmd)mh]bhm)uhs],
lhm A,5)uhs]lhm A,01)enk]sd

Fmspnctbshnm
Khed dwodbs]mbx g]r addm rsd]chkx hmbqd]rhmf ctqhmf sgd o]rs

1// x ’0(-Gnvdudq)sgd dwsq] xd]qr nekhed ]qd nesdm khudc hm onnq
gd]ksg-Sn ]fd lnqd gd]ksghkx)nkcdq ]ctksr mddc sn l]hms]hm ]
ghfg kdudkne ogxrhb]kodqenql]mbd hm c]hkx khed adb]trd sghr hr
qdk]sdc sn hmbqd]rdc hmcdodmcdmbd ]mc ] ghfgdq pt]khsx ne khed
’1(- Etqsgdqlnqd) ghfg ogxrhb]k odqenql]mbd qdctbdr bg]mbdr
ne gnrohs]khy]shnm ’2()bnfmhshud cdbkhmd ’3()]mc lnqs]khsx ’4(-
A uhs]lhmr g]ud addm rtffdrsdc sn oqnsdbs ]f]hmrs ]fd,qdk]sdc
ogxrhb]kcdbkhmd ’5(-Gnvdudq)sgd dw]bsqnkd neA uhs]lhm hms]jd
hm qdk]shnm sn ogxrhb]kodqenql]mbd hm nkcdq ]ctksr hr tmjmnvm)
]mc duhcdmbd enq]rrnbh]shnmr hr rb]qbd-

9l I Bkhm Mtsp 1/10://90“8-Oqhmsdc hm TR@- Sgd @tsgnq’r(1/10-Otakhrgdc ax Nwenqc Tmhudqrhsx Oqdrr nm adg]kenesgd @ldqhb]m Rnbhdsx enqMtsqhshnm-
Sghr hr ]m Nodm @bbdrr ]qshbkd chrsqhatsdc tmcdqsgd sdqlr nesgd Bqd]shud Bnllnmr @ssqhatshnm Khbdmrd ’gsso9..bqd]shudbnllnmr-nqf.khbdmrdr.ax.3-/.()vghbg
odqlhsr tmqdrsqhbsdc qdtrd)chrsqhatshnm)]mc qdoqnctbshnm hm ]mx ldchtl)oqnuhcdc sgd nqhfhm]kvnqj hr oqnodqkx bhsdc- 0
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1 Fqnnsrv]fdqr ds]k-

A uhs]lhmr ok]x ]m hlonqs]msqnkd hm ]skd]rs 2 ldbg]mhrlr
qdk]sdc sn ogxrhb]k odqenql]mbd- Ehqrs) hms]jd ne uhs]lhmr
A,5) A,01) ]mc enk]sd qdctbdr gnlnbxrsdhmd bnmbdmsq]shnmr
’6(-Ghfg bnmbdmsq]shnmr ne gnlnbxrsdhmd hmctbd hm"]ll]shnm
]mc cdbqd]rd mdtqnknfhb]k etmbshnmhmf) vghbg lhfgs kd]c sn
cdbqd]rdc ogxrhb]kodqenql]mbd ’7(-Sghr hr hm khmd vhsg ltkshokd
rstchdr sg]s g]ud rgnvm sg]s gnlnbxrsdhmd bnmbdmsq]shnmr ]qd
hmudqrdkx ]rrnbh]sdc vhsg pt]cqhbdor rsqdmfsg ’8() bg]hq qhrd
sdrsodqenql]mbd ’0/()]mc f]hs roddc ’0/“01(-Rdbnmc)mh]bhm)
uhs]lhmr A,5 ]mc A,01)]mc enk]sd bnmsqhatsd sn sgd etmbshnmhmf
ne lhsnbgnmcqh] ’02(- Lhsnbgnmcqh]k etmbshnmhmf hr hlo]hqdc
ax dkdu]sdc gnlnbxrsdhmd bnmbdmsq]shnmr ’03(-Sgtr) knvdqhmf
hmsq]bdkktk]q gnlnbxrsdhmd bnmbdmsq]shnmr ax ]cdpt]sd uhs]lhm
A,5)uhs]lhm A,01)]mc enk]sd hms]jdr l]x hloqnud lhsnbgnmcqh]k
etmbshnmhmf)vghbg b]m admdésogxrhb]kodqenql]mbd ’04(-Hm ]c,
chshnm)chds]qx hms]jd nemh]bhm ’]mc hsr oqdbtqrnqsqxosnog]m(b]m
kd]c sn hmbqd]rdc bnmbdmsq]shnmr neM@C ’05(-Hmbqd]rhmf M@C
bnmbdmsq]shnmr ax og]ql]bnknfhb]k]fdmsr g]r addm rgnvm sn ad
]m deedbshud hmsdqudmshnm sn hloqnud lhsnbgnmcqh]k etmbshnmhmf
hm gtl]mr ’06(-Hm lhbd)knmf,sdql ]clhmhrsq]shnm ne ]m M@C
oqdbtqrnqqdctbdc ]fd,qdk]sdc ogxrhnknfhb]kcdbkhmd ’07(-Sghqc)
A uhs]lhmr l]x oqdrdqud ltrbkd pt]khsx uh] sgdhq ]mshnwhc]ms
oqnodqshdr ’08( ]mc ax hloqnuhmf mdtqnltrbtk]q etmbshnmhmf
’5(- S]jdm snfdsgdq) A uhs]lhmr l]x bnmsqhatsd sn ogxrh,
b]k odqenql]mbd uh] rtooqdrrhmf gnlnbxrsdhmd bnmbdmsq]shnmr)
hloqnuhmf lhsnbgnmcqh]k etmbshnmhmf) ]mc oqdrdquhmf ltrbkd
pt]khsx-
Cdrohsd sgdrd hmchb]shnmr ne ]m hlonqs]ms qnkd ne A uhs]lhm

hms]jd hm qdk]shnm sn ogxrhb]kodqenql]mbd)nmkx 1 nardqu]shnm]k
rstchdr g]ud hmudrshf]sdc sghr ]rrnbh]shnm) vhsghm sgd r]ld
bngnqs- Sgdrd rstchdr rgnvdc sg]s ]cdpt]sd hms]jd ne uhs]lhm
A,5) uhs]lhm A,01) ]mc enk]sd kdc sn knvdq qhrj ne hlo]hqdc
lnahkhsx ’1/( ]mc eq]hksx ’10(- Hm sgdrd 1 rstchdr) chds]qx
hms]jd v]r ]rrdrrdc uh] sgd chds]qx ghrsnqx ldsgnc) ]mc kdudk
ne ogxrhb]k odqenql]mbd v]r rdke,qdonqsdc- Hm sghr ]qshbkd)vd
qdonqssgd qdrtksr nentqhmudrshf]shnm nesgd ]rrnbh]shnm adsvddm
naidbshudkx ld]rtqdc ogxrhb]k odqenql]mbd) ]r ld]rtqdc ax
g]mcfqho rsqdmfsg) v]kjhmf roddc) ]mc bg]hq qhrd sdrs) ]mc
chds]qx hms]jd)]r ld]rtqdc ax cds]hkdc 6,c ennc qdbnqcr)hm ]
k]qfd Dtqnod]m bngnqsne nkcdq ]ctksr-Hm ]cchshnm)vd dwoknqd
onsdmsh]kldch]shnm ax gnlnbxrsdhmd bnmbdmsq]shnmr ]mc mh]bhm
rs]str-

Sghr vnqj v]r rtoonqsdc ax sgd SHEM qdrd]qbg oqnfq]l Lhsnbgnmcqh]k
Gd]ksg ’@KVSE-1/04-4(-Sgd MT,@FD sqh]kv]r rtoonqsdc ax sgd Dtqnod]m
Tmhnm&r Rdudmsg Eq]ldvnqj Oqnfq]l ’155375(-Sgd etmcdqr g]c mn qnkd
hm sgd cdrhfm ]mc hlokdldms]shnm ne sgd rstcx mnq hm c]s] ]m]kxrhr ]mc
hmsdqoqds]shnm-
Rtookdldms]kS]akdr 0“3 ]mc Rtookdldms]kEhftqd 0 ]qd ]u]hk]akd eqnl sgd

zRtookdldms]qx c]s]– khmj hm sgd nmkhmd onrshmf nesgd ]qshbkd ]mc eqnl sgd
r]ld khmj hm sgd nmkhmd s]akd nebnmsdmsr ]sgssor9..]b]cdlhb-nto-bnl.]ibm.-
@ccqdrr bnqqdronmcdmbd sn OF ’d,l]hk9onk-fqnnsrv]fdqr?vtq-mk(-
@aaqduh]shnmr trdc9MLM)M.,ldsgxkmhbnshm]lhcd:MT,@FD)Mdv Ch,

ds]qx Rsq]sdfhdr @ccqdrrhmf sgd Rodbhéb Mddcr ne sgd Dkcdqkx Onotk]shnm
enq Gd]ksgx @fhmf hm Dtqnod: O@RD)Ogxrhb]k@bshuhsx Rb]kd enq Dkcdqkx:
ROOA) Rgnqs Ogxrhb]k Odqenql]mbd A]ssdqx: 1,Oxq) M,ldsgxk,1,oxqhcnmd,
b]qanw]lhcd-
Qdbdhudc Itmd 11)1/1/-@bbdosdc enqotakhb]shnm Mnudladq02)1/1/-
Ehqrsotakhrgdc nmkhmd /)1/10:cnh9gssor9..cnh-nqf.0/-0/82.]ibm.mp]]257-

Ldsgncr

Rstcw cdrhfm

Vd trdc a]rdkhmd c]s] eqnl sgd Mdv Chds]qx Rsq]sdfhdr
@ccqdrrhmf sgd Rodbhéb Mddcr ne sgd Dkcdqkx Onotk]shnm enq
Gd]ksgx @fhmf hm Dtqnod ’MT,@FD(rstcx enqsghr ]m]kxrhr-Sgd
MT,@FD rstcx hr ] chds]qx hmsdqudmshnm sqh]ksg]sv]r odqenqldc
hm 4 bdmsdqr hm cheedqdmsDtqnod]m bntmsqhdr ’Eq]mbd)Hs]kx)sgd
Mdsgdqk]mcr)Onk]mc)]mc sgd Tmhsdc Jhmfcnl(-Hshr qdfhrsdqdc
]sbkhmhb]ksqh]kr-fnu tmcdqMBS/0643/01-Sgd rstcx cdrhfm ]mc
o]qshbho]msqdbqthsldmsg]ud addm cdrbqhadc hm cds]hkdkrdvgdqd
’11) 12(- Hm rtll]qx) 1557 ]oo]qdmskx gd]ksgx) bnlltmhsx,
cvdkkhmf nkcdq ]ctksr ’]fdc 54“68 x( vdqd qdbqthsdc enq sgd
sqh]k) ne vghbg 0407 ]ssdmcdc sgd rbqddmhmf ]mc 0185 dkhfhakd
o]qshbho]msr vdqd hmbktcdc ’enq "nvbg]qs) rdd RtookdldmsTk
Ehftpd .(-Sgd oqhl]qx ntsbnld ne sgd MT,@FD sqh]kv]r sgd
bg]mfd hm B,qd]bshud oqnsdhm ]esdq0 x nechds]qx hmsdqudmshnm-Enq
sghr rstcx)vd trdc c]s] nas]hmdc adenqd sgd rs]qsne sgd chds]qx
hmsdqudmshnm ne 0138 o]qshbho]msr vgn bnlokdsdc sgd a]rdkhmd
chds]qx hms]jd ]rrdrrldms-

ChdsTpw hmsTjd

Chds]qx hms]jd v]r ]rrdrrdc sgqntfg 6,c ennc qdbnqcr-Adenqd
sgd ld]rtqdldmsodqhnc)o]qshbho]msr vdqd sq]hmdc hm cdrbqhahmf
enncr)onqshnm rhydr)oqdo]q]shnm ldsgncr)bnlokdw qdbhodr)]mc
nudq]kk kdudk ne cds]hk ’13) 14(- O]qshbho]msr qdonqsdc onqshnm
rhydr hm qdk]shnm sn m]shnm]k gntrdgnkc ld]rtqdr) ohbstqdr) nq
]r ld]rtqdc hm fq]lr nq lhkkhldsdqr- Chdshsh]mr nq qdrd]qbg
mtsqhshnmhrsr)vgn vdqd sq]hmdc hm ] rs]mc]qchydc v]x sn qdctbd
adsvddm,bdmsdq u]qh]shnm) qduhdvdc sgd kdudk ne cds]hk ne sgd
bnlokdsdc ennc qdbnqcr ctqhmf ] gnld uhrhs’hm sgd Mdsgdqk]mcr
]mc Tmhsdc Jhmfcnl( nq ]s sgd qdrd]qbg bdmsdq ’Onk]mc)Hs]kx)
]mc Eq]mbd(-Ennc qdbnqcr vdqd bncdc ]bbnqchmf sn rs]mc]qchydc
bnchmf oqnbdctqdr- Mtsqhdms bnmsdms v]r b]kbtk]sdc ax trhmf
knb]kennc bnlonrhshnm s]akdr ZMDUN 1/00 hm sgd Mdsgdqk]mcr
’15()LbB]mbd ]mc Vhccnvrnm hm sgd TJ ’16() HMQ@M ]mc
AC@ hm Hs]kx ’17) 18() MEMH hm Onk]mc ’2/() ]mc BHPT@K
Eqdmbg ennc bnlonrhshnm s]akd hm Eq]mbd ’20([-O]qshbho]msr eqnl
sgd Eqdmbg bdmsdq vdqd dwbktcdc enq uhs]lhm A,01 ]m]kxrdr
ctd sn tmqdkh]akd hms]jd c]s] enq sghr uhs]lhm- Rtookdldms]qx
uhs]lhm A hms]jd v]r ]rrdrrdc ax ld]mr ne ]m ]cchshnm]k
ptdrshnmm]hqd) ]mc o]qshbho]msr trhmf uhs]lhm A“bnms]hmhmf
rtookdldmsr vdqd hcdmshédc ]mc dwbktcdc eqnl ] rdmrhshuhsx
]m]kxrhr-Mh]bhm dpthu]kdmsr vdqd b]kbtk]sdc ]r enkknvr9mh]bhm
’lf(� Zsqxosnog]m ’lf(.5/[-Sqxosnog]m hms]jd v]r drshl]sdc
eqnl sns]koqnsdhm hms]jd ax ]rrtlhmf ]m ]udq]fd ]atmc]mbd ne
0-0 ’21(-

OgwrhbTkodpenplTmbd

Ogxrhb]kodqenql]mbd v]r ld]rtqdc ]s]kkbdmsdqr ax sgd Rgnqs
Ogxrhb]k Odqenql]mbd A]ssdqx ’ROOA( ]mc g]mcfqho rsqdmfsg-
Sgd ROOA v]r odqenqldc enkknvhmf sgd oqnsnbnkcdrbqhadc ax
Ftq]kmhj ds]k-’22( ]mc bnmrhrsdc ne ] 1-33,l trt]kf]hsroddc
sdrs) ] a]k]mbd sdrs hm 2 enns onrhshnmr ne hmbqd]rhmf cheébtksx)
]mc ] 4,shld bg]hqqhrd sdrs-G]mcfqho rsqdmfsg v]r ld]rtqdc ax
cxm]lnldsqx ’Rb]mchc]bsRldckdx&r G]mcCxm]lnldsdq(sn sgd
md]qdrs/-0 jf)hm rs]mchmf onrhshnm vhsg sgd ]ql "dwdc ]s8/±-
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Uhs]lhm A,5 hr qdk]sdc sn ogxrhb]kodqenql]mbd 2

Enq d]bg g]mc)sgd l]whltl u]ktd ne 2 qdodshshnmr v]r trdc
enq ]m]kxrhr-Sgd ld]rtqdldmsr ne ogxrhb]k odqenql]mbd vdqd
rs]mc]qchydc nudq sgd 4 bdmsdqr-Sgd rs]mc]qchy]shnm v]r cnmd
ax inhms sq]hmhmf rdrrhnmr hm V]qr]v ]mc V]fdmhmfdm)vgdqd
qdoqdrdms]shudr eqnl ]kk4 bdmsdqr vdqd oqdrdms-Ogxrhb]k]bshuhsx
v]r dwoqdrrdc hm Ogxrhb]k @bshuhsx Rb]kd enq Dkcdqkx ’O@RD(
ptdrshnmm]hqd,a]rdc O@RD rbnqdr ’23(- Sgdrd ptdrshnmm]hqdr
vdqd rdke,]clhmhrsdqdc ]mc bgdbjdc ax ] qdrd]qbgdq-

AhnbgdlhbTkTmTkwrdr

Tqhmd r]lokdr vdqd bnkkdbsdc ctqhmf c]x 6 ne sgd chds]qx
hms]jd ]rrdrrldms)vghbg v]r 0 c oqhnqsn ogxrhb]kodqenql]mbd
]rrdrrldms-O]qshbho]msr vdqd hmrsqtbsdc sn chrb]qc sgd éqrstqhmd
ne sgd c]x ]mc sn bnkkdbs]kkenkknvhmf tqhmd)hmbktchmf sgd éqrs
tqhmd ne sgd rdbnmc c]x)hm rs]mc]qc bnms]hmdqr sg]s bnms]hmdc
1-6 lK ne 0 rnchtl ]yhcd rnktshnm-Sns]k tqhmd unktld v]r
qdbnqcdc) ]mc tqhmd v]r ]khptnsdc hm bqxnuh]kr ]mc rsnqdc ]s
“7/±B tmshk ]m]kxrhr- Tqhm]qx M0,ldsgxkmhbnshm]lhcd ’MLM(
]mc M,ldsgxk,1,oxqhcnmd,b]qanw]lhcd ’1,Oxq( bnmbdmsq]shnmr
vdqd ld]rtqdc ]s Tmhudqrhsx Ldchb]k Bdmsqtl Fqnmhmfdm)
sgd Mdsgdqk]mcr) ax sgd u]khc]sdc KB ’Ktm] GHKHB bnktlm:
Ogdmnldmdw(hrnsnod chktshnm LR.LRldsgnc ’Pt]ssqn Oqdlhdq:
V]sdqr() ]r cdrbqhadc oqduhntrkx ’24(- Sgd rtl ne sgd 1
lds]ankhsd bnmbdmsq]shnmr v]r ltkshokhdc ax sns]k 13,g tqhmd
unktld sn nas]hm 13,g tqhm]qx mh]bhm lds]ankhsd dwbqdshnm)vghbg
hr bnmrhcdqdc ] ahnl]qjdqnemh]bhm rs]str ’25(-
Ok]rl] gnlnbxrsdhmd bnmbdmsq]shnmr vdqd ]rrdrrdc ax sgd

dmyxl]shb ldsgnc ’Nkxlotr @T3// bgdlhrsqx ]m]kxydq:Adbj,
l]m( hm sgd Mhfqhrnkh gnrohs]k hm Anknfm]) Hs]kx) ]r cdrbqhadc
oqduhntrkx ’26(-

RsTshrshbTkTmTkwrhr

Enq cdrbqhoshud otqonrdr) dmdqfx,]citrsdc sdqshkdr ne sgd 3
uhs]lhmr ’mh]bhm) A,5) A,01) ]mc enk]sd( vdqd bqd]sdc trhmf
sgd qdrhct]k ldsgnc ’27(- Cdrbqhoshud rs]shrshbr ]qd oqdrdmsdc
]r ld]mr ∗ RCr enq mnql]kkx chrsqhatsdc u]ktdr ]mc ]r
ldch]mr ’14sg“64sg odqbdmshkd( enq rjdvdc u]qh]akdr- Rjdvdc
ntsbnld u]qh]akdr ’v]kj shld ]mc bg]hqqhrd sdrsshld(vdqd knf
sq]mrenqldc-@kk]m]kxrdr vdqd odqenqldc trhmf R@R rnesv]qd
udqrhnm 8-3 ’R@R Hmrshstsd(-
@rrnbh]shnmr adsvddm hms]jd ne A uhs]lhmr ]mc ld]rtqdr ne

ogxrhb]k odqenql]mbd vdqd ]rrdrrdc uh] lhwdc khmd]q lncdkr-
Bnmshmtntr)tm]citrsdc ld]rtqdr ne sgd A uhs]lhmr vdqd trdc
]r dwonrtqd)]mc dmdqfx ]citrsldmsv]r odqenqldc uh] ]cchmf
dmdqfx hms]jd sn sgd lncdk- Onrrhakd deedbs lnchéb]shnm ax
ogxrhb]k]bshuhsx kdudkv]r sdrsdc ax ]cchmf sgd hmsdq]bshnm sdql
dwonrtqd ogxrhb]k]bshuhsx sn sgd lncdk-Sgd hmsdq]bshnm lncdk
v]r trdc vgdm sgd hmsdq]bshnm lncdkrgnvdc ]m hloqnudc lncdk
ésnudq sgd lncdkvhsgntshmsdq]bshnm sdql)]r bnmbktcdc eqnl
khjdkhgnnc q]shn sdrsr trhmf l]whltl khjdkhgnnc drshl]shnm ’28(-
Sgqdd lncdkr nehmbqd]rhmf bnlokdwhsx vdqd athkssn ]citrsenq

bnmentmchmf e]bsnqr-Sgd éqrslncdknmkx ]citrsdc enq ]fd ]mc
rdw-Sgd rdbnmc lncdk]cchshnm]kkx ]citrsdc enq dmdqfx hms]jd)
cqhmjhmf rs]str ’mnm) khfgs) nq gd]ux() rlnjhmf rs]str ’mdudq)
enqldq)nqbtqqdms()dctb]shnm kdudk’knv)ldchtl)nqghfg()]mc
ogxrhb]k]bshuhsx kdudk-Sgd sghqc lncdk]cchshnm]kkx ]citrsdc enq
oqnsdhm hms]jd ]mc rstcx bdmsdq-@citrsldmsenqrstcx bdmsdqv]r

odqenqldc ax hmbktchmf rstcx bdmsdq ]r ] q]mcnl e]bsnq hm ]
q]mcnl hmsdqbdoslncdk-
@cchshnm]k]m]kxrdr vdqd cnmd sn sdrsenq] onrrhakd ldch]shmf

deedbs ne mh]bhm lds]ankhsdr hm sgd mh]bhm“ogxrhb]k etmbshnm
qdk]shnm ]mc enq gnlnbxrsdhmd bnmbdmsq]shnmr hm sgd uhs]lhm
A,5) uhs]lhm A,01) enk]sd“ogxrhb]k odqenql]mbd qdk]shnm- Vd
b]kbtk]sdc ] mnql]khydc bnlahmdc uhs]lhm rbnqd enquhs]lhm A,
5)uhs]lhm A,01)]mc enk]sd ax chuhchmf ]kku]ktdr ax sgd ld]m
hms]jd ne sgd rodbhéb uhs]lhm ]mc rtllhmf to sgnrd u]ktdr-
Enq dw]lokd) he ] o]qshbho]ms g]c ]m hms]jd ]qntmc sgd ld]m
enq uhs]lhm A,5)uhs]lhm A,01)]mc enk]sd)sgd bnlahmdc rbnqd
enqsghr o]qshbho]msv]r ≥2-Vd enkknvdc sgd ldch]shnm ]m]kxrhr
ldsgnc cdrbqhadc ax Oqd]bgdq]mc G]xdr ’3/(]mc bnmbktcdc sg]s
sgdqd v]r mn duhcdmbd enqldch]shnm vgdm sgd onsdmsh]kldch]snq
v]r mns]rrnbh]sdc vhsg dhsgdqdwonrtqd nqntsbnld-@rrnbh]shnmr
adsvddm ldch]snq]mc dwonrtqd nqntsbnld vdqd odqenqldc ax
trhmf sgd etkkx ]citrsdc lncdkr-
Vd odqenqldc 1 rdmrhshuhsx ]m]kxrdr- Sgd éqrs rdmrhshuhsx

]m]kxrhr v]r odqenqldc sn ]rrdrr sgd hm"tdmbd neonrrhakd tmcdq,
nqnudqqdonqsdqr nedmdqfx hms]jd-Enqsghr ]m]kxrhr)vd dwbktcdc
o]qshbho]msr vhsg ] c]hkx ]udq]fd dmdqfx hms]jd ntsrhcd sgd 4//,
sn 3///,jb]k q]mfd ]mc o]qshbho]msr vhsg ]m dmdqfx hms]jd sn
a]r]klds]ankhb q]sd Zdrshl]sdc ax Rbgnédkc&r dpt]shnm ’30([q]shn
ntsrhcd sgd /-7˙1-55 q]mfd-Hm sgd mdvkx bqd]sdc c]s] rds)vd
qdq]m sgd oqnfq]lr nesgd rdbnmc ]mc sghqc lncdkr ]mc bnlo]qdc
ntsotsr- Sgd rdbnmc rdmrhshuhsx ]m]kxrhr dwbktcdc o]qshbho]msr
trhmf uhs]lhm A“bnms]hmhmf rtookdldmsr-

Pdrtksr
O]qshbho]msr ’m + 0138( g]c ] ld]m ]fd ne 60 ∗ 3 x) ]mc

45 vdqd vnldm ’STakd .(-Sgd rstcx onotk]shnm g]c ] ghfg
kdudk ne ogxrhb]k etmbshnmhmf) vhsg ] ldch]m ROOA rbnqd ne
01-Ld]rtqdr ne ogxrhb]kodqenql]mbd vdqd rhlhk]q nudq sgd 4
bdmsdqr)dwbdosenq ghfg g]mcfqho rsqdmfsg hm o]qshbho]msr eqnl
sgd Tmhsdc Jhmfcnl)dudm cdrohsd sgd ghfgdqedl]kd oqnonqshnm
hm sghr bdmsdq-Sgd TJ o]qshbho]msr ]krn rgnvdc ghfgdqrbnqdr nm
sgd O@RD ptdrshnmm]hqd ]mc g]c sgd ghfgdrs hms]jdr ne mh]bhm)
uhs]lhm A,5)]mc uhs]lhm A,01-O]qshbho]msr eqnl Eq]mbd g]c sgd
ghfgdrsc]hkx ]udq]fd dmdqfx ]mc oqnsdhm hms]jd atssgd knvdrs
ALH-Nm sgd nsgdq g]mc)o]qshbho]msr eqnl Hs]kx g]c sgd knvdrs
]udq]fd c]hkx hms]jd ne dmdqfx)oqnsdhm)]mc uhs]lhm A,01 ]mc
sgd knvdrsrbnqd nm sgd O@RD ptdrshnmm]hqd-Hm sgd Mdsgdqk]mcr)
o]qshbho]msr g]c sgd knvdrshms]jd kdudkr ne2 ntsne3 A uhs]lhmr9
mh]bhm)uhs]lhm A,5)]mc enk]sd-
Bg]q]bsdqhrshbr nesgd o]qshbho]msr odqdmdqfx,]citrsdc sdqshkdr

ne mh]bhm) uhs]lhm A,5) enk]sd) nq uhs]lhm A,01 hms]jd ]qd
oqdrdmsdc hm STakd 1- @o]qs eqnl enk]sd hms]jd) sgd fdmcdq
chrsqhatshnm v]r rhlhk]qhm ]kk2 sdqshkdr-Enqenk]sd hms]jd)] ghfgdq
oqnonqshnm neldm v]r nardqudc hm sgd éqrssdqshkd bnlo]qdc vhsg
sgd nsgdqsdqshkdr-O]qshbho]msr vhsg ghfgdqenk]sd hms]jd vdqd lnqd
khjdkx sn g]ud ] knvdqancxvdhfgs]mc g]mcfqho rsqdmfsg)vgdqd]r
o]qshbho]msr vhsg ghfgdq hms]jd ne mh]bhm) uhs]lhm A,5) ]mc
uhs]lhm A,01 vdqd lnqd khjdkx sn g]ud ghfgdqancx vdhfgs]mc
g]mcfqho rsqdmfsg-Nsgdqld]rtqdr neogxrhb]kodqenql]mbd vdqd
rhlhk]q hm sgd cheedqdms sdqshkdr ne ]kk sgd uhs]lhmr-O]qshbho]msr
vhsg knvdq hms]jdr ne uhs]lhm A,5) uhs]lhm A,01) ]mc enk]sd
vdqd lnqd khjdkx sn g]ud edvdq xd]qr ne dctb]shnm-Knv,enk]sd
bnmrtldqr vdqd lnqd nesdm gd]ux cqhmjdqr ’◦03 tmhsr odqvddj()
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3 Fqnnsrv]fdqr ds]k-

S:AKD . A]rdkhmd bg]q]bsdqhrshbr nesgd sns]krstcx r]lokd ]mc odqrstcx bdmsdq0

Sns]k
’m + 0138(

Hs]kx
’m + 162(

Tmhsdc Jhmfcnl
’m + 161(

Sgd Mdsgdqk]mcr
’m + 141(

Onk]mc
’m + 140(

Eq]mbd
’m + 1/0(

Fdmcdq) edl]kd 45 41 53 45 46 4/
@fd)x 6/-8 ∗ 3-/ 60-6 ∗ 2-8 6/-0 ∗ 3-/ 60-/ ∗ 3-/ 60-3 ∗ 2-7 60-1 ∗ 2-8
Gdhfgs)bl 055 ∗ 8 053 ∗ 0/ 055 ∗ 8 058 ∗ 7 053 ∗ 8 055 ∗ 8
Vdhfgs)jf 62-5 ∗ 02-3 62-/ ∗ 01-5 63-/ ∗ 02-6 63-5 ∗ 02-1 64-2 ∗ 03-1 6/-0 ∗ 01-5
ALH)jf.l1 15-6 ∗ 3-/ 16-1 ∗ 2-8 15-7 ∗ 3-0 15-/ ∗ 2-5 17-/ ∗ 3-1 14-3 ∗ 2-4
Ch]adsdr) 4 5 2 3 7 3
Gxodqsdmrhnm) 30 38 18 22 50 22
Gxodqbgnkdrsdqnkdlh]) 22 37 11 14 27 20
Nrsdnonqnrhr) 01 01 3 0/ 1/ 02
Rlnjdq) mdudq.enqldq.btqqdms 42.31.4 33.38.6 5/.27.1 40.35.2 38.33.6 55.20.2
Cqhmjdq)1  mnm.khfgs.gd]ux 06.60.00 20.42.05 0/.71.8 02.61.04 10.44.13 0/.60.07
Dctb]shnm)2 knv.ldchtl.ghfg 02.41.24 28.28.11 0.72.05 02.45.20 0.17.60 00.42.25
O@RD rbnqd 022 ∗ 44 002 ∗ 4/ 038 ∗ 42 026 ∗ 42 020 ∗ 51 022 ∗ 41
Gnlnbxrsdhmd) lnk.K 01-5 ∗ 3-2 03-4 ∗ 3-1 01-7 ∗ 2-7 00-0 ∗ 2-/ 01-4 ∗ 4-1 00-8 ∗ 3-1
Mh]bhm hms]jd)3 lf.c 06-/ ’02-8“1/-6( 06-1 ’02-6“1/-8( 07-3 ’04-5“11-1( 04-6 ’02-2“07-5( 06-/ ’02-3“10-2( 05-4 ’02-6,1/-/(
Uhs]lhm A,5 hms]jd)lf.c 0-7 ∗ /-5 0-5 ∗ /-4 1-/ ∗ /-5 0-5 ∗ /-4 1-/ ∗ /-6 0-6 ∗ /-3
Enk]sd hms]jd)β f.c 18/ ∗ 86 160 ∗ 0/5 2/8 ∗ 85 144 ∗ 60 186 ∗ 87 212 ∗ 82
Uhs]lhm A,01 hms]jd)3 β f.c( 3-2 ’2-/“5-2( 1-6 ’0-8“3-0( 4-8 ’3-4“6-7( 3-2 ’2-3“4-5( 3-0 ’1-8“5-2( M@
Oqnsdhm hms]jd)f.c 64 ∗ 07 56 ∗ 03 66 ∗ 05 65 ∗ 05 66 ∗ 11 70 ∗ 06
Dmdqfx hms]jd)jb]k.c 0753 ∗ 334 0600 ∗ 270 0784 ∗ 271 08/7 ∗ 300 0711 ∗ 401 1/15 ∗ 373
A rtookdldmstrdqr) 08 04 1/ 15 10 00
Cnlhm]msg]mcfqho rsqdmfsg)jf 20-4 ∗ 8-4 2/-8 ∗ 8-6 23-4 ∗ 8-/ 2/-4 ∗ 8-1 2/-2 ∗ 8-7 20-/ ∗ 7-7
Sns]kROOA rbnqd3 01 ’00“01( 01 ’00“01( 01 ’00“01( 01 ’00“01( 01 ’00“01( 01 ’00“01(
Qdod]sdc bg]hqqhrd shld)r 0/-2 ∗ 1-7 0/-2 ∗ 1-8 0/-5 ∗ 1-7 0/-/ ∗ 1-6 0/-1 ∗ 1-6 0/-2 ∗ 1-5
Shld sn v]kj 1-33 l)r 1-3 ∗ /-5 1-2 ∗ /-5 1-2 ∗ /-5 1-4 ∗ /-4 1-4 ∗ /-5 1-5 ∗ /-4

0U]ktdr ]qd ld]mr ∗ RCr tmkdrr rs]sdc nsgdqvhrd-M@)mns]ookhb]akd:O@RD)Ogxrhb]k@bshuhsx Rb]kd enqsgd Dkcdqkx:ROOA)RgnqsOgxrhb]kOdqenql]mbd
A]ssdqx-

1Khfgscqhmjdq)0“03 tmhsr odqvddj:gd]ux cqhmjdq)◦03 tmhsr odqvddj-
2Knv)/“7 x:ldchtl)8“02 x)ghfg)◦03 x-
3Ldch]m ’HPQ(-

vgdqd]r knv,A,01 bnmrtldqr vdqd lnqd nesdm mnmcqhmjdqr-
O]qshbho]msr vhsg ghfgdqhms]jd ne]mx nesgd 3 uhs]lhmr bnmrtldc
lnqd oqnsdhm ]mc lnqd ne sgd nsgdq 2 A uhs]lhmr- Rhfmhéb]ms
bnqqdk]shnmr vdqd nardqudc enqsgd 5 o]hqr neA uhs]lhmr)q]mfhmf
eqnl p + /-11 enq sgd bnqqdk]shnm adsvddm hms]jd ne mh]bhm ]mc
uhs]lhm A,01 sn p + /-50 enq sgd bnqqdk]shnm adsvddm hms]jd ne
uhs]lhm A,5 ]mc enk]sd-O]qshbho]msr vhsg ] ghfg hms]jd neenk]sd
nq uhs]lhm A,01 vdqd lnqd khjdkx sn g]ud knvdq gnlnbxrsdhmd
bnmbdmsq]shnmr-

STakd 2 oqdrdmsr sgd ]rrnbh]shnmr adsvddm hms]jd ne sgd
3 A uhs]lhmr ]mc ld]rtqdr ne ogxrhb]k odqenql]mbd- Hms]jd
ne uhs]lhm A,5 v]r qdk]sdc sn hloqnudc bg]hq qhrd sdrs shld
Z 9 “/-/22 ∗ /-/05 r ’knf(: N + /-/32[) sq]mrk]shmf sn ]
2-1 knvdq bg]hq qhrd shld odq lhkkhfq]l ghfgdq uhs]lhm A,
5 hms]jd- Mh]bhm ]mc uhs]lhm A,5 hms]jdr vdqd rhfmhéb]mskx
]mc onrhshudkx ]rrnbh]sdc vhsg g]mcfqho rsqdmfsg-Gnvdudq)enq
sgdrd ]rrnbh]shnmr) sgdqd v]r ] rhfmhéb]ms hmsdq]bshnm adsvddm
uhs]lhm hms]jd ]mc ogxrhb]k]bshuhsx kdudk-Hm o]qshbho]msr vhsg sgd
knvdrs kdudk ne ogxrhb]k ]bshuhsx)hms]jd ne uhs]lhm A,5 sdmcdc
sn ad onrhshudkx ]rrnbh]sdc vhsg g]mcfqho rsqdmfsg ’STakd 3:
 9 0-4 ∗ /-7 jf: N + /-/40[)vgdqd]r sgd ]rrnbh]shnmr vdqd
mdf]shud hm o]qshbho]msr vhsg sgd ghfgdrskdudkneogxrhb]k]bshuhsx
’ 9 “0-3 ∗ /-6 jf:N + /-/30: hmsdq]bshnm deedbs9N + /-//2(-
Sgdqd vdqd mn rhfmhéb]ms]rrnbh]shnmr adsvddm mh]bhm hms]jd ]mc
g]mcfqho rsqdmfsg ]s]mx ogxrhb]k]bshuhsx kdudk-O]qshbho]msr hm sgd
ghfgdrsogxrhb]k]bshuhsx pt]qshkd g]c ] ghfgdqg]mcfqho rsqdmfsg

bnlo]qdc vhsg sgnrd hm sgd knvdrsogxrhb]k]bshuhsx pt]qshkd ’�9
3-3 ∗ /-6 jf:N " /-///0:RtookdldmsTkSTakd .(-Sgdx ]krn
g]c ] ghfgdq hms]jd kdudk ne sns]k dmdqfx ’�9 06/ ∗ 26 jb]k:
N " /-///0()oqnsdhm ’�95 ∗ 0 f:N " /-///0()]mc uhs]lhm A,5
’�9/-1 ∗ /-/ lf:N " /-//0(atsmnsmh]bhm ’�9/-4 ∗ /-4 lf:
N + /-2/8(-
Qdrtksr neldch]shnm ]m]kxrdr ]qd oqdrdmsdc hm RtookdldmsTk

STakd 1 Bnlahmdc mnql]khydc hms]jd neuhs]lhm A,5)uhs]lhm A,
01)]mc enk]sd v]r qdk]sdc sn knvdqgnlnbxrsdhmd bnmbdmsq]shnmr
hm sgd etkkx ]citrsdc lncdk’N + /-//2(-@ ghfgdqhms]jd ned]bg
nesgd uhs]lhmr v]r qdk]sdc sn knvdqgnlnbxrsdhmd bnmbdmsq]shnmr
’ uhs]lhm A,59 “/-35 ∗ /-15  lnk.K)N + /-/73:  enk]sd9
“/-//2 ∗ /-//0  lnk.K) N + /-/45: ]mc  uhs]lhm A,019
“/-/7 ∗ /-/2  lnk.K) N + /-/13(- Gnvdudq) gnlnbxrsdhmd
bnmbdmsq]shnmr vdqd mnsqdk]sdc sn g]mcfqho rsqdmfsg)v]kj shld)
nqqdod]sdc bg]hqqhrd sdrsshld ’N < /-0/ enq]kkntsbnldr(-
Hms]jd nemh]bhm dpthu]kdmsr v]r ]rrnbh]sdc vhsg sns]ktqhm]qx

mh]bhm lds]ankhsdr ’ 9/-42 ∗ /-15  lnk.K:N + /-/34(-Hms]jd
nemh]bhm ax hsrdkev]r mns]rrnbh]sdc vhsg sgd mh]bhm lds]ankhsdr
’ 9 /-37 ∗ /-22  lnk.K:N + /-036(-Sgd rtl ne sgd tqhm]qx
lds]ankhsdr v]r mns]rrnbh]sdc vhsg g]mcfqho rsqdmfsg)v]kjhmf
shld)nqbg]hqqhrd sdrs’N < /-2/ enq]kkntsbnldr(-
Dwbktchmf dmdqfx lhrqdonqsdqr ’m + 17 tmcdqqdonqsdqr)m + /

nudqqdonqsdqr(qdrtksdc hm ]m ]ssdmt]sdc)atsrshkkrhfmhéb]ms)]rrn,
bh]shnm adsvddm uhs]lhm A,5 hms]jd ]mc g]mcfqho rsqdmfsg ’vhsg
deedbslnchéb]shnm ax ogxrhb]k]bshuhsx kdudk(]mc ]ssdmt]shnm sn
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Uhs]lhm A,5 hr qdk]sdc sn ogxrhb]kodqenql]mbd 4
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